
·.@,jj 
REF. NO. PART 

NUMBER 

-112-~ 

ATTACHMENTS 
DESCRIPTION SERIAL NUMBER 

BELT PULLEY AND POWER TAKE-OFF ATTACHMENT (Special)--Continued 

17 351 967 RI .GU IDE, POWER TAKE-OFF SHIFTER ROD I I I 

(8 351 969 RI SPRING, POWER TAKE-OFF SHiFTER ROD I I 

19 351 968 RI COLLAR, POWER TAKE-OFF SHIFTER LEVER I I 

20 351 291 RI SEAL, POWER TAKE-OFF SHIFTER SHAFT I I 

21 355 426 RI DOWEL, POWER TAKE-OFF ADAPTER, LOWER (WILL WORK FOR 45 391 0) I I 

22 351 260 R21 HOUSING, BELT PULLEY DRIVE, ASSEMBLY I I 
(COMPOSED OF -

I HOUSING §351 260 R2 
I PLUG 103 866 
I PLUG 103 869 
I PLUG 16 684 RI) fl 

103 866 PLUG, PIPE, SQ-HD,, 1/411 2 2 
103 869 PLUG, PIPE, SQ-HD,; 3/411 I I 

179 84o SCREW, CAP, HEX-HD,, 3/8-16NC X 1-1/8" 4 4 
103 321 WASHER, LOCK, 3/811 4 4 

23 351 268 RI WASHER, BELT PULLEY DRIVE PINION I I 

24 351 267 RI PINION, BELT PULLEY DRIVE I I 

25 69 696 D RING, SNAP, BELT PULLEY DRIVE HOUSING SUPPORT BEARING i I 

26 ST 225 B BEARING, BELT PULLEY DRIVE HOUSING SUPPORT (IH-C-225) I I 

27 124 549 KEY (WoODRUFF No. 9, 3/16 X 3/411
) I I 

·28 351 265 Rl2 SLEEVE, BELT PULLEY DRIVE PINION I I 

181 364 SCREW, CAP, HEX-HD., 3/8-24NF X 111 I I 

103 321 WASHER, LOCK, 3/8" I I 

29 254 091 RI SEAL, BELT PULLEY DRIVE HOUSING (WILL WORK FOR 351 264 RI) I I 

30 351 261 RI SHIM, BELT PULLEY DRIVE HOUSING, HEAVY X X 

31 351 262 RI SHIM, BELT PULLEY DRIVE HOUSING, MEDIUM X X 

32 351 263 RI SHIM, BELT PULLEY DRIVE HOUSING, LIGHT X X 

33 351 259 R21 SUPPORT, BELT PULLEY DRIVE HOUSING, w/OIL SEAL, 19 857 D AND BREATHER, 355 120 R91 I I 

179·844 SCREW, CAP 1 HEX-HD., 3/8-16Nc x 1 -s/8" 2 2 

179 842 SCREW' CAP' HEX-HD.' 3/8-i 6NC x I -3/8" 3 3 

103 321 WASHER, LOCK, 3/8" 5 5 

34 19 857 D OIL SEAL, BELT PULLEY DRIVE HOUSING SUPPORT I I 

35 16 684 RI PLUG, EXPANSION (3-1/4") I I 

I ,§ - NIJT 5£RVl.c£11 SEPARATELY X - As RECIUJ RE 

I 

D 




